K= 822 &= = o|0] Fsi™ ULt

A mp2 0] 27H, 371 = Ui



T}

oHC}

e
o

M7t =X

- H H .
— T ==

H
Hr
Kio







S 5oy

r

(
-\
|

)
| O
T
A
1Y
\
. .’y

il
R
joll
Ny
n
of
& RO
B
= To
Kl ©
y K
ol my
gr ol |
OKr oT
K{i oH &3
oF 2 i
o IH Zp
i
= _M._ﬂ F
I =-
K Oy
2 m o
ol o] %0
o ¥ =
o g
N S o
R IH Y
S Ik g
I W o
I ol 33
5 =H o
©O O 1r
ol
O
v
S
F
]
1l
o]
Ik
I

25.50| Ol Of



3. {2 0]H|0] 4 HE&

HH| ofp 2 2L 28 EL2 2 LI OX|H o] == B 24 25

o |!!

=2 [MAE, 28] 23 2 0 20]X|0]90] 75 OICt



const int INF = 987654321;
int N;

int cache[501][501];

int cost[501];

int preSum[501];

// a, b: S FLMe [AAE, ZE]
int dp{int a, int b) {
1f (a == b)
return cost[al;

o
F

nt& ret = cache[al[b];
1T {(ret != -1) return ret;

ret = INF;
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for (int 1 = a; 1 < b; 1+
]

ffEE OEEE gl 24 o)
ret = min(ret, dp(a, 1) + dp(i + 1, b) + sum);

return ret;

}

vold solve(int num) {
nt ret = INF;

for (int 1 =0; L < num - 1; 1++) {

ret = min(ret, dp(®, 1) + dp(1 + 1, num - 1));
¥

cout =< ret << endl;

T E #E: https://gist.github.com/injae-kim/2b419af2a077ae6b24007a8458850df7
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